PROCESS

Process computer for the
complete control of the
greenhouse.

DESIGNED&PRODUCED BY SPAGNOL [ q !

Computerized control of a greenhouse is
aimed at increasing cultivation growth.
Temperature, humidity, CO2, light,
irrigation and nourishment are essential
elements for the regular growth of the
® cultivation. Photosynthesis, transpiration
and nutrition are processes that must be
QPAGNOL managed with the utmost care.
m — Process constantly measures the signals
coming from the sensors installed inside
and outside the greenhouse and, on the
basis of precise control strategies,
appropriately controls the systems
installed in the greenhouse.
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Greenhouse
automation

PROCESS
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Heat and electric
energy generation
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